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1= A= 31 = 6/ EEEEE F=Z 121
FEEELIEFTTHURIE AT 28 0.40 0.97 2.1 2.38
(HlmX| = CHH| Hah - - - -
Z 3 (Class)d szt
FEEEESEFTHEIIEKIHEZT_C/A 0.19 0.54 1.46 -
(HlmX| == CHH| 42t - - - -
REEEESEFTTHSIIE A= _C/A-e 0.24 0.64 1.62 -
(HlmX| = CHH| Hah - - - -
REEEYZETTHUERIE R AZTH _C/AT 027 0.69 1.69 -
(HlmX| == CHH| 43t - - - -
FEEEYIEFTASIUE A= _C/C 0.04 0.24 1.00 -
(HlmX| == CHH| 43t - " - -
REEEESEFTTHEIIE A= _C/C-F 0.28 0.72 1.74 1.88
IR - - . B
FEEEYIEFTASIUE A= _C/C-P1 0.18 0.52 - -
(HlmX| == CHH| 43t - " - -
FEEEESEFEASAIE A ZE] _C/C-Ple 0.24 0.63 - -
(HlmX| == CHH| 43t - - - -
REEELSEFSHUEXAMENKBEZEH_C/C-P2 0.18 0.51 - -
(HlmX| == CHH| 43t - . - -
QL EEYZRFS HERENRASE_C/C-Pe 0.23 0.63 1.63 -
(HlmX|== CHH| 42t , . - -
REIESLIRFTHERMER A _C/C-W 0.29 0.74 177 1.92
(HlmX|== CHH| 42t - - -
REIEEYIRFTHEIE R AST _C/Ce 0.17 0.49 1.39 -
(H|mX|== CHH|] Hah - - - -
FEEEYSRFTHASRIE R AZT _C/5-P 0.29 0.78 - -
(HlmX|== CHH| 42t - - - -
REIEE LS RF TS HEXLE K] =T _ClassS 0.23 0.64 - -
CIFNEEERER)) , , . N
B mX|=(#IX|0F3) 0.00 0.00 0.00 0.00
F)H| L X| (K| OFT): BMBLS
X 9l EXHME2 ot MIHE LiEpY ¥ Dj2fe| 284S HiEE A2 ofdLct
7= L 2 2 %2 34 22 5
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2 (Class) & $igh
R EEYIRFIHAEIE R A=T_C/A - - - -
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REEE I RFEHERE AT C/A-e - - - -
(HlmX|== ChH| A 3h - - - -
%EI%E%%E?WEIWE*[*HE BH_C/AT - - - ,
(HlmX|== ChH| A 3h - - - -
%EI%E%%E$§EEW'E* A= C/C - - - -
(HlmX|== ChH| A 3h - - - -
QEEEYIIFSHEXME K AZS_C/C-F 1.88 - - -
(HlmX| == CHH| & 3h , . - -
#RlESESRFS AT KB =8 C/C-P1 - - - -
(HlmX|== ChH| A 3h - - - -
%ﬂ%%%%ﬁ?%ﬂ EXFAEHRH =8 _C/C-Ple - - - -
(HlmX|== CiH| A 3h - - - -
REERYBRFTHUERME R AET C/C-P2 - - - -
(HlmX|== ChH| A 3h - - - -
FelERESRFS AR A= C/C-P2e - - - -
(HlmX|== ChH| A 3h - - - -
REEEESEFEHERUE R AS Y] _C/C-W 1.92 - - -
(HlmX|== ChH| A 3h - - - B
%ﬂ%%%‘%&?%i@ FAEHXHE =8 _C/Ce - - - -
(HlmX|== ChH| A 3h - - - -
RElEE LI RFIHERE R AT _C/s-P - - ‘ -
(HlmX|== CiH| A 3h - - - -
FE|lEE LI 2FEHELE KA =2 _ClassS - - - -
(HlmX|== CiH| A 3h - - - -
H| W X| =X OF3) 0.00 0.00 0.00 0.00
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Xt H . . =
Lict =3t gr)et FI|o Ha U H|E WHHES HnE = ASL
(THR|: B OHR, %)
o 7| Eidl
= = AEe [ =29 HE
Rab2 &AL 0.00 0.00 0.00 0.00
EHOf 2 AF 0.00 0.00 0.00 0.00
HE XA E S A TS AN 0.00 0.00 0.00 0.00
AR 22 2] AL 0.00 0.00 0.00 0.00
258 0.00 0.00 0.00 0.00
FEEEESEFTASIIERHEZE) 2 7[EHH[E =) 0.68 0.00 2.05 0.01
oy ooy, SIHeR 8.24 0.03 9.29 0.03
ENERIT &
=70 N ol 098 0.00 1.39 0.00
e fHlx 242
TTE A 9.21 0.03 10.68 0.03
SHAHA 162 0.02 6.18 0.02
S EAT 321 0.10 315 0.10
ELER 321 0.10 375 0.10
HEX B S S AN E AN 0.24 0.01 0.24 0.01
AEFATZ HEETAT 0.16 0.01 0.16 0.00
EESS% 6.63 021 6.70 0.21
REUEELIEFTHEIIEKIHZS_C/A HEEEIED 0.09 0.00 0.20 0.01
oy of =], 552 0.84 0.03 0.87 0.03
= ENEHAT S 0.10 0.00 0.13 0.00
& HlA S ) ! ) !
TTE A 0.95 0.03 7.00 0.03
SHAHA 049 0.02 0.58 0.02
S EAT 0.20 0.10 0.17 0.10
ELER 0.10 0.05 0.08 0.05
HEX B S S A E AN 0.02 0.01 0.01 0.01
AEFATZ EHEETAT 0.01 0.01 0.01 0.00
EESS% 033 0.16 0.27 0.16
REEEESEFEHERUE AT C/A-e HEEEIED 0.00 0.00 0.07 0.07
oH o 0o, S8 0.04 0.02 0.04 0.02
=) FAETET S 0.00 0.00 0.01 0.00
& HlA s ! ! ! !
TTE EZl 0.04 0.02 0.04 0.03
S A 0.02 0.01 0.03 0.01
IS g 1155 0.10 15.19 0.10
ENEN 2.89 0.03 3.80 0.02
HEX B S S AN AN 0.87 0.01 714 0.01
AEFATZ HEETAT 058 0.01 0.76 0.00
EESS% 15.88 0.14 20.89 0.14
REISSESEFS AT MAZE /A1 ITEFEE [5) 034 0.00 T04 0.01
oy B%ilirDH, BT 338 0.03 719 0.03
?j” M Hl;f’:; 039 0.00 0.63 0.00
TTE EZl 378 003 783 0.03
SHATNA 187 0.02 2.82 0.02
S EAT 7033 0.10 11.25 0.10
ENEN 2583 0.25 2812 0.25
HEX B S S A D 0.77 0.01 0.84 0.01
AEFATZ HEETAT 052 0.01 056 0.00
EESS% 37.45 037 20.77 0.36
R EEEIEFIHARMIEMAZY C/C HEEEED 0.30 0.00 0.73 0.01
O oy el SIie2 268 0.03 293 0.03
=) FAETET S 031 0.00 0.43 0.00
X A s ) ! ) !
TTE EEl 299 0.03 337 0.03
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=70 N 0.01 0.00 0.01 0.00
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=T BEl 0.06 003 0.06 0.03
S A 0.03 0.02 0.04 0.02




AR EAE 0.61 0.10 0.64 0.10
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JEATZ EE[2[AF 0.03 0.01 0.03 0.00
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